IRIERIETE NRE

I ik 1 fTh2 T4 3 T4 87| i H= TR w =
1|AsF—=/N\=U+T |[14mUL |BE-BED [T EOE3Om BATHE20F | m 700 T $0-00018%
2|AsA—=/N\=UAT [14mULE |8 BB |TS9HELE0E4O0m BABHE20F | m 800 T $0-0002S%
S|AsF—N\N=UAT [14mMULE |B&E- 8B |TEHEEOESOm BATZHE20F | m 2,000 T $0-00038%
4(AsF—=IN\—=UAT |[14mLE |=&-8BES8 [T EVE30m BABHWEISF | m 700 T $0-0004S%
S5|As7—=N\=U+AT [14mlL |E8E-8BEE |T9tE0E4Om BATHWEASF | m 800 T $0-00055%
O|AsA—=N=ULaTL [14mLE (=& - BESD i EDES Omm BEBREAISF | m 2,000 T $0-0006S%
T|AsF—=NN=UAT [14mlL |EE- BB |THtEOE3Om BAEME13 m 400 T $0-0007S%
S|AsF—N=UAT |[14mkKiEG |=E-BE8 |[TOHEVE30m  |BEBWE2OF | m 200 T 50-00085%
OAsA—=/N\=UAT |[14mkKiG |=&-BES% [Tt LE0E40m BATHE20F | m 400 T $0-0009S%
10|AsZ—=/N=L 1T [14mXkiE |28 BB |TEHLENESOm  |BEBRE20F | m 500 T 50-00108%
1M|AsZA ==L T [14mkKiE |BE- BB |t ENE3Om BAZHWEASF | m 200 T $0-00118%
12|AsZ—=/N=UAT [14mkiE |&=8- BB |TEtE0E40m  |BEBREISF | m 400 T 50-00128%
18|AsZA—=/N\=LAT [14mkKiE |BE- BB |t ENESOm BAEZHEASF | m 500 T $0-00138%
14|AsZF—=/N=UA T [14mkiE |B=&E- BB | EVE3Om  |BEMHE13 m 400 T 50-00148%
16| HIERE T BREE |EHRENE  [HyS— 0255 REWES |REREEE m 10,000 #T $0-00155S%
16| HHRE T BIBBE  |BHIENE  [hys— 6256 REHER|RERBTEE m 10,000 T 50-0016S%
17| MR E T BEEEE | BNERE E S m 25,000 M $0-0017S%
18|EE EREIRE m 10,000 BT $0-00198%
19| FEAEHE EIRIRE |65kmIUT m 10,000 BT $0-00208%
20|fABERT (ADER |EES m 1,000 KT $0-00218%
21 |BEEERT (ANER [Dvou—rE m 2,000 T $0-00225%
22|{IBBERT (ADER = m 1,500 MBI 5£0-00238%

1.2



IRIERIETE NRE

T7@ (= T2 %3 fThk4 | 81| 1l HE =& m =
23| RIBEIHEIET NREWM  |ASHBIZE L t 75 T $0-00245%
24|BEPRT 7 )V NESHD |BHIE (20F) |BEMBEARSO%UT t 20
25|BE PR 7 IV NEEY) [BRE (1 3F) |BEMEARSO%MUT t 45
26|BEPRI7IVESHD |[MIRE (1 3) [BEMBEARSOUUT t 10
27| A—FU—IUEREBT |BE+RE |Gr—C m 150 T $0-00265%
28|REHELERE A | BEE A 30
o RBAEERE B |BEE A 150

T Sfi8st

BHER

IH&E5t

272



